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1.Which of the following techniques typically eliminates common errors?
A. Practical kaizen training

B. Kaizen

C. Poka-yoke

D. Kanban

Answer: C

2.Which plant type describes a product at one stage that can be transformed into several distinct products
at the next stage (divergent points)?

A. A-Plant

B. I-Plant

C. T-Plant

D. V-Plant

Answer: D

3.Which of the following statements characterizes an intermittent manufacturing environment?
A. Work center load is predictable.

B. Routings for all products are the same.

C. Work centers are organized by function.

D. Kanban is the most appropriate scheduling method.

Answer: C

4.A firm offers products configured from a large number of stocked options.
Which of the following production environments is the firm most likely to use?
A. Engineer-to-order

B. Make-to-order

C. Assemble-to-order

D. Make-to-stock

Answer: C

5.Which of the following manufacturing systems involves the creation of one unit or a small number of
units?

A. Flow manufacturing

B. Intermittent manufacturing

C. Project manufacturing

D. Continuous manufacturing

Answer: C
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